A balancing act

The aim of this investigation is to find out all the ways that you can balance something.

Task One – Easy!

1. Set up the apparatus.
Use the diagram and the one set up by the teacher to help.
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2. Slide one hanger so that it is 20 cm from the end of the ruler.

3. Slide the hanger on the other side until the ruler is balanced.

4. Write the distance of the hanger from the ruler’s end on the results sheet.

5. Move the first hanger to a different place and then balance the ruler using the other hanger.

6. Write the distance of both hangers on the sheet.

7. Do 3 more experiments like this and write their results down on the results sheet.

8. Look at your results and write down what you have found out on the results sheet.
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Task Two – Getting Harder!

Two people can balance on a see-saw even if they are different weights.

They just have to move different distances away from the middle.

1. Put an extra mass on one of the hangers.

2. Now investigate how you can balance the ruler with different masses on each side.

3. Record your results in the space on the results sheet.

4. When you think that you have found out a pattern, write it down.

“I can get the masses to balance if I…”

Task Three – Rock hard!

The turning force around a pivot is called the moment.

If a something is balanced, the moments on each side are the same.

You can work out the moments on your ruler using this equation…

moment = force x distance from the middle

See if you can work out the moments for these see saws and say which are balanced.
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A balancing act – Results Sheet

Task One

1. When the ruler was balanced, the hanger was …………… cm from the end.

2. I then balanced the ruler by having one hanger ………….. cm from the end and 

the other hanger …………… cm from the end.

3. My results from the other experiments are…

	Distance of one hanger
from the end (cm)
	Distance of the other hanger
from the end (cm)

	
	

	
	

	
	

	
	


4. I have found out that …………………………………………………………..

…………………………………………………………………………………

Task Two

Task Three

See-saw a is balanced because

See-saw b is not balanced because
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